Bapuanm 1.

1. B tpeyromsanke ABC yron C pasen 907,

sinA = —
41. Haiigure 125

2. B TpeyronbHuke ABC yron C pasen 907

V3
cosAd = —
.Hangute cosB .

3. B TpeyronbHuke ABC yron C pasen 907

V19

T P
9 . Hangute cosA .

4. B TpeyronbHuke ABC yron C pasen 907,

AC =20, t8A =0.7 Hagure BC.

Bapuanm 1.

1. B tpeyronsanke ABC yron C pasen 907,
40

sinA = —
41. Haiigmre 125

2. B TpeyronbHuke ABC yron C pasex 907

V3
cosA = —
. Haiigute cosh .

3. B TpeyronbHuke ABC yron C pasex 907

V19

T P
9 . Hangute cosA .

4. B TpeyronbHuke ABC yron C paset 907

AC =20, t2A=0.7 Haigure BC.

Bapuanm 1.

1. B tpeyromsuuke ABC yrox C pasen 907,
40

sinA = —
41. Haiigure 125

2. B TpeyronbHuke ABC yron C pasen 907

V3
cosd = —
2 . Haingute cosB .

3. B TpeyronbHuke ABC yron C pasex 907,

V19

tgA = —
9 | Hangute cOSA |

4. B TpeyronbHuke ABC yron C paset 907

AC =20, t12A =0.7 Hajigure BC.

Bapuanm 2.

1. B tpeyromsuuke ABC yrox C pasen 907,
10

v 181 Haitnure gl

sind =

2. B TpeyronbHuke ABC yron C pasen 907

V51
cosA = ——
10 . Haingute COSB |

-

tgA = v

._d|

3. B TpeyronbHuke ABC yron C pased 907,
. Hangute cosA .

4. B tpeyronbHuke ABC yron C pasen 907, AC = 15,
tgA=0,6 HaiguTe BC.

Bapuanm 2.

1. B tpeyronsuuke ABC yrox C pasen 907,
10

V181 Haiipure 128

sind =

2. B TpeyronbHuke ABC yron C pasex 907,

V51
cosA = ——
10 . Haingute COSB |

-

tgA = v

m|

3. B TpeyronbHuke ABC yron C pasen 907,
. Hangute cosA |

4. B TpeyronbHuke ABC yron C pasen 907, AC = 15,
tgA=0.6 Haiigute BC.

Bapuanm 2.

1. B tpeyromsruke ABC yrox C pasen 907
10

s5ind = ——
V181 Haiigure 128

2. B TpeyronbHuke ABC yron C pasen 907

V51
cosA = ——
10 . Haitpute cosB |

-

tgA = v

m|

3. B TpeyronbHuke ABC yron C paser 907
. Haiignte COSA

4. B TpeyronbHuke ABC yron C pasen 907, AC = 15,
tgA=0,6 HaiguTe BC.



| tea

sind =
1. B tpeyroneHuke ABC yron C paBeH gﬂo, 5, AC = 4 Hangute AB.
inA 7
SINA = —
i
2 B TpeyronbHuke ABC yron C pagen 207 17, AC = 415, Haitoute AB.
8
sind = —
3.B TpeyronbHuke ABC yron C pasen 907, 17, AB = 17.Hangute AC.
sinAd = ‘fﬁ
4.B TpeyronbHuke ABC yron C pasen 907, 5 . Haitgute cosA .
sind = 2 M@
5.B TpeyronbHuke ABC yron C paseH 907, 5 . Haitgute cosA .
- 8+/89
- sind = ——
6. B TpeyronsbHuke ABC yron C paBeH 90" 89 . Haitgure 124
0
sind = —
7. B TpeyronbHuke ABC yron C pasen 907 41 Hairgure 128
10
sInA =
—
8.B TpeyronbHuke ABC yron C pasen 907 V181, Hajigure 128
inA 4
s5inA = —
9. B TpeyronbHuke ABC yron C pasen 907 5. Haitgure 125
cosA = £
10. B TpeyronbHuke ABC yron C pasex 907, ‘ 2 . Hangute COSE .
cosA = kﬁ
11.B TpeyronbHuke ABC yron C paseH 907, 10 . Hainpute coOSEB
oA V19
A= ———
12.B tpeyronbHuke ABC yron C paser 907, 9 . Haitgute COSA .
tg A V7
A= —
13. B TpeyronbHuke ABC yron C pasex 907 3 . Haitgute COSA .

sin.
14.B Tpeyronbhuke ABC yron C pasen 907, AB = 20, 25 . Haitgute AC.

15.B TpeyronbHuke ABC yron C pasen 907, AC = 20, 184 = 0.7 Hajinure BC.

16.B TpeyronbHuke ABC yron C pasen 907, AC = 15, 184 = 0.6 Haitgure BC.



